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Exercise 1

Calculate the following subtractions :

2695 - 205 =

6954 - 943 =

1298 - 128 =

7659 - 630 =

3977 - 305 =

2886 - 322 =

9984 - 114 =

5776 - 270 =

1872 - 802 =

1682 - 112 =

7885 - 314 =

8848 - 112 =

Exercise 2

Calculate the following subtractions :

9845 - 203 =

2523 - 122 =

4284 - 222 =

1271 - 150 =

4738 - 320 =

6866 - 101 =

4597 - 370 =

9993 - 250 =

3964 - 953 =

6645 - 122 =

8363 - 212 =

6764 - 320 =

Exercise 3

Calculate the following subtractions :

5818 - 701 =

2516 - 502 =

4966 - 804 =

6795 - 614 =

3775 - 661 =

6827 - 812 =

4681 - 240 =

9964 - 920 =

8745 - 341 =

8976 - 311 =

3884 - 514 =

9467 - 236 =

Exercise 4

Calculate the following subtractions :

1694 - 511 =

7787 - 575 =

4434 - 103 =

7976 - 142 =

3868 - 462 =

6962 - 260 =

4985 - 704 =

9888 - 251 =

6698 - 372 =

1890 - 650 =

9736 - 622 =

9876 - 345 =
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